	King Saud University

College of Engineering

Electrical Engineering Dept.
	EE201 – Fundamentals of Electric Circuits
Mid-Term Exam (1) – 2nd  Semester 1426-1427
Time Allowed: 1 ½ Hours
	Z

	- ظلل الحرف المناظر للإجابة الصحيحة لكل سؤال في هذه الأوراق ثم  في نموذج الإجابة المرفق
- هناك إجابة واحدة صحيحة لكل سؤال
- في حالة تظليل أكثر من إجابة للسؤال الواحد تعتبر الإجابة خاطئة

	اسم الطالب:                                    رقم الطالب:               اسم الاستاذ:                     رقم الشعبة:
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 Fig.1
Without modifying the circuit shown in Fig.1, the number of nodes n is:
	1.
	n =
	a) 6  
	b) 9  
	c) 5  
	d) 7  
	e) 8  


Without modifying the circuit shown in Fig.1, the number of braches b is:

	2.
	b =
	a) 8  
	b) 10  
	c) 12  
	d) 11  
	e) 15  
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Fig.2
For the circuit shown in Fig. 2, answer questions 3 & 4 
	3.
	I2  =
	a)  10 A
	b) 4 A
	c) -10 A
	d) -4 A
	e) 14 A

	
	
	
	
	
	
	

	4.
	I4  =
	a)  6 A
	b) 2 A
	c) -6 A
	d) -2 A
	e) 4 A


[image: image4.emf]6  

  14  





4



16



1

5 2

8 3



 



a

b

10 V



V

ab

I

1

I

2

I

3


[image: image5.emf]20  

36 

18 

   12 

6  

  6  

12 V

b

a

I

2

I

1

I

3

c







 






                 Fig.3
In the circuit shown in Fig. 3, answer questions 5, 6, 7 & 8
	5.
	V1  =
	a)-14 V
	b) -8 V
	c) 14 V
	d) 8 V
	e) 3 V

	
	
	
	
	
	
	

	6.
	V2  =
	a) -6 V
	b) 2 V
	c)  6 V
	d) 7 V
	e) 11 V

	
	
	
	
	
	
	

	7.
	V3  =
	a)  4 V
	b) 3 V
	c) 11 V
	d) 9 V
	e) -11 V

	
	
	
	
	
	
	

	8.
	V4  =
	a)  5 V
	b) 7 V
	c) 2 V
	d) -7 V
	e) 4 V
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Fig.4
For the circuit shown in Fig.4, answer questions 9, 10, 11 & 12
	9.
	I1  =
	a) -1 A
	b) 2 A
	c) 1 A
	d) -2 A
	e) 4 A

	
	
	
	
	
	
	

	10.
	I2  =
	a)-4 A
	b) -2 A
	c)  4 A
	d) 1 A
	e) 2 A

	
	
	
	
	
	
	

	11.
	I3  =
	a)  4 A
	b) 2 A
	c) 1 A
	d) 0 A
	e) 5 A

	
	
	
	
	
	
	

	12.
	Vab  =
	a) 10 V
	b) -5 V
	c) -10 V
	d) 5 V
	e) 8 V
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               Fig.5
In the circuit shown in Fig.5, answer questions 13, 14, 15 & 16
	13.
	I1  =
	a) -1 A
	b) 4 A
	c) 2 A
	d) 1 A
	e) -4 A

	
	
	
	
	
	
	

	14.
	I2  =
	a) 5 A
	b) 3 A
	c)  4 A
	d) 2 A
	e) 0 A

	
	
	
	
	
	
	

	15.
	I3  =
	a)  0 A
	b) 2 A
	c) 1 A
	d) -1 A
	e) -2 A

	
	
	
	
	
	
	

	16.
	Vbc=
	a)  8 V
	b) 6 V
	c) -8 V
	d) 12 V
	e) -12 V
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Fig.6
For the circuit shown in Fig.6, answer questions 17, 18, 19 & 20
	17.
	Rae=
	a) 12 Ω
	b) 10 Ω  
	c) 20 Ω
	d) 14 Ω
	e) 11 Ω

	
	
	
	
	
	
	

	18.
	Rbc=
	a) 42 Ω
	b) 16 Ω
	c) 0 Ω
	d) 4 Ω
	e) 8 Ω

	
	
	
	
	
	
	

	19.
	Rbd=
	a) 24 Ω
	b) 12 Ω
	c) 0 Ω
	d) 36 Ω
	e) 6 Ω

	
	
	
	
	
	
	

	20.
	Rde=
	a) 2 Ω
	b) 18 Ω
	c) 4 Ω
	d) 22 Ω
	e) 6 Ω


� EMBED Visio.Drawing.11  ���





� EMBED Visio.Drawing.11  ���





� EMBED Visio.Drawing.11  ���





� EMBED Visio.Drawing.11  ���





� EMBED Visio.Drawing.11  ���

















� EMBED Visio.Drawing.11  ���








[image: image10.emf][image: image11.emf]6  

  14  





4



16



1

5 2

8 3



 



a

b

10 V



V

ab

I

1

I

2

I

3

[image: image12.emf]   12 

6  

  16

b

a

c

 



d

4



8



8



16



e

_1203878807.vsd
36 


c


20  


18 


   12 


 


6  


  6  


12 V


b


a


I2


I1


I3


d


   12 


 


6  


  14  


4


b


a


8


8


16


e


c


 


6  


  14  


1


5


2


8


3


4


8


16


a


b


12 V


I1


I2


I3


Vab


I1


I3


I4



_1203920585.vsd

_1203921527.vsd
ab


I1



_1203922189.vsd

_1203883918.vsd
36 


c


20  


18 


   12 


 


6  


  6  


12 V


b


a


I2


I1


I3



_1203878045.vsd

